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Estimating Multiplication w/Decimals Name:
Use the decimal placement to estimate the product. Answers
1) 54x1.795=
A. 96.9300 B. 0.9693 C. 0.0969 . 9.6930 L
2,
2) 0577 x8.98=
A. 0.05181 B. 0.51815 C. 518.14600 . 5.18146 3
3) 8.28x05= 4.
A.0.041 B. 414.000 C.4.140 .0.414
5.
4) 0.486x3.18=
A.0.01545 B. 15.45480 C. 1.54548 . 154.54800 &
7.
5) 43x6.219=
A.0.2674 B. 26.7417 C. 26742 . 2,674.1700 3
6) 6.223x0.7= Q.
A. 0.4356 B. 43.5610 C. 0.0436 . 4.3561
10.
7) 7.119x45=
A. 32.0355 B. 3.2036 C. 3,203.5500 . 320.3550 1L
12.
8) 3.255x0.7=
A. 2.2785 B. 227.8500 C. 22.7850 .0.0228
9 832x36=
A. 29.952 B. 0.300 C. 299.520 . 2.995
10) 5.12x7.8=
A.3.994 B. 39.936 C. 0.399 . 399.360
11) 151x8.443=
A. 12.74893 B. 1,274.89300 C. 127.48930 .0.12749
12) 8.4x0.182=
A. 15.2880 B. 0.0153 C. 0.1529 . 1.5288
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Estimating Multiplication w/Decimals Name: Answer Key
Use the decimal placement to estimate the product. Answers
1) 54x%x1.795=
A. 96.9300 B. 0.9693 C. 0.0969 . 9.6930 1 L
>, D
2) 0.577x8.98=
A.0.05181 B. 0.51815 C. 518.14600 . 5.18146 3 C
3) 828x05= s C
A.0.041 B. 414.000 C.4.140 .0.414
5. B
4) 0.486x3.18= D
A. 0.01545 B. 15.45480 C. 1.54548 . 154.54800 6.
7 A
5 43x6.219=
A.0.2674 B. 26.7417 C. 2.6742 . 2,674.1700 3 A
6) 6.223x0.7= 9. A
A. 0.4356 B. 43.5610 C. 0.0436 . 4.3561
0. B
7) 7.119x45= A
A. 32.0355 B. 3.2036 C. 3,203.5500 . 320.3550 L.
1. D
8) 3.255x0.7=
A. 2.2785 B. 227.8500 C. 22.7850 .0.0228
9) 832x36=
A. 29.952 B. 0.300 C. 299.520 . 2.995
10) 512x7.8=
A.3.994 B. 39.936 C.0.399 . 399.360
11) 151 x8.443=
A. 12.74893 B. 1,274.89300 C. 127.48930 .0.12749
12) 8.4x0.182=
A. 15.2880 B. 0.0153 C. 0.1529 . 1.5288
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